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@® -6
ax — 2bx = —6x(a + 2b)
2
@ ax*+ay=a(x+y)
®
a(x+y) =b(x+y) = (x+)
" —ab
@ —4x? +16y? = —4(x + 2y)(x — 2y)

® x(2a-b
)+ 2y(2a — b) — z(2a — b) = (2a - b)
a—b)(x—2y) -z



U S 11 Alttol 4] 982 A2?

D 972 = (100 — 3)2 = 1002 — 2 X 100 X 3 + 32 = 9409
@ 51x4.9=(5+0.1)(5-0.1) = 52— 0.12 = 24.99

® 3012 = (300 + 1)2 = 3002 + 2 x 300 x 1 + 12 = 90601
@ (VZ+ V3)(VZ- V3) = (V2)* - (V3)? = -1

® (=VI0- V2)(VI0 - V2) = (V10)2 - (vV2)2 =8



o] Zk& ohd?
T 0 1 2
1 1,000 1,005 1,010
2 1.414 1.418 1,421
3 1,732 1,735 1,738
4 2 2.002 2,005
o 2.236 2.238 2.241
6 2.449 2.452 2.454
7 2.646 | 2.648 | 2,650
8 2.828 | 2.830 | 2,832
@® 1414 @ -1.732 ® 1.732
@ -2.449 ® 2.449
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0

1

2

3

4

1.41

1.41

1.42

1.42

1.42

1.43

1,44

1.45

1.45

1.45

1.46

1.46

1.48

1.48

1.49

1.49

1.49

1.50

1,51

1.52

1.52

1.52

1,53

1.53

Eal
2.0
2.1
2,2
2.3
2.4

1.54

1.55

1,55

1,55

1.56

1.56

D 5.93

@ 7.56

® 7.50

@ 7.40

® 6.19
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@® ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)(2+a)

® -y +2x+2y=(x-y)(x-y+2)
@ P+ +x+1=(2+1)(x+1)

® x(y-1)-20y-1)=(x-2)(y-1)
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(x-y? =2 D, (
+2)(2x+) ° B8
2 Tajolet
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